29010 4AHIE ML

7= miiEA

M
%4,
B 124 DIN 7984 M/SARF DIN 985 , 4N,

A
KLNXBITELE,
BERERIRRFASARS,

BEER
BTEENRENFMEMER,

M -
- EFEEFMFFE 29050

© norelem www.norelem.com



29010 4AHIE ML

k— 3 = ; =

"/%?; | [y

\iﬁ; i @é

@ @

29010-512 1 12,1 6 27 25| 355 42 28 | 28 | 37| 42 5|30 23 21 M6x20 30
29010-514 1 14,1 6 27 25| 355 42 28 | 28 | 37| 42 5 (13023 21 M6x20 30
29010-515 1 15,1 6 27 25| 355 42 28 | 28 | 37| 42 5 (130123 21 M6x20 30
29010-516 1 16,1 6 27 25| 355 42 28 |1 28 | 37| 42 5 (30|23 21 M6x20 30
29010-518 1 18,1 6 27 25| 355 42 28 | 28 | 37| 42 5 (30123 21 M6x20 30
29010-520 2 20,1 7 425 | 40 53 60 |40 42|50 | 60 8 |42 | 33 29 M8x25 45
29010-525 2 25,1 7 425 | 40 53 60 |40 42|50 | 60 8 |42 | 33 29 M8x25 45
29010-530 2 30,1 7 42,5 | 40 53 60 40 | 42 | 50 60 8 | 42| 33 29 M8x25 45

© norelem www.norelem.com




29010 4AHIE ML

29010-540

1

40,17

61

56

74

90

60

60

70

90

10

64

40

40

M10x30

64

29010-550

1

50,22

70

66

84

105

74

74

85

105

14

80

45

49,5

M10x35

80

© norelem www.norelem.com



